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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry









Ratio-2 (Basic Question)




Ratio-2 (Basic Question)
Ifxy:yz:zx=5:4:3

Finax:y:z?7

a)20:15: 12

b)15: 2012

(c) 12 :20:15
(d) 1532296




Ratio-2 (Basic Question) MATHS WITH SACHIN BALIYAN SIR

If (x +vy):(y+2z):(z+x) 5:3,
Find the ratio of x:y:z ?
(a)2:4:3 (b)3:4 5%

(c) 2 2401 (d)2:1: 8
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Ratio-2 (Basic Question)
Ratio of age of father and his son is 5:2

. While (prggluct of their age is 1000

then what is the age of father? o
3T I U h 3HATY T AU 5: 2 B
Saifeh ITeht AT T TUAES 1000 & a1

foraT it ayprer 22
500~/:
50

25
None



Ratio-2 (Basic Question)
If the length of a rectangle is

lhan the widti . of the rectangle.

whereas the f that rectangle is
4200 square cm then what is th length
CE— : ¥,
of the rectangle? afe mmaﬁ‘cms
HTIA hi AT A 16.66% AT 2
Aafeh 3T AT ST ATH 4200 T
T A1 2ATad hi aTe T 22

70 60 89




Ratio-2 (Basic Question) MATHS WITH SACHIN BALIYAN SIR
If the Ratio of three numbers is

5:6:7. while their product is
5670 then what is the greatest
number? W HEATAT T
HAAATT 5:6:7 T WaTeh 39T
TUAEA 5670 & A1 Tad a3t
& T 2

27

21

89

81



Ratio-2 (Basic Question) MATHS WITH SACHIN BALIYAN SIR

Ankita has 108 bangles with her by mistake some bangles broken, What could
not be possible ratio of broken to unbroken Bangles? 3ifehat & wrel 108 aﬁm g,
TeAdt 8 o disi I T3 221 g3 AR (=1 22T FAT AISAT SHt HHTSG AT &1 A6l
1 Tehdl 22




Ratio-2 (Basic Question) MATHS WITH SACHIN BALIYAN SIR tk
The ratio of income of A, B & C are in the ratio 2 : 3 : 5 & their expenditures are in

the ratio 1 : 3 : 4. Next year their income increases by 10%, 15% & 20% & their
expenditure increases by 15%, 18% & 25% respectively. Find the original saving of
B ? A, B 3T C 3t 3T 3T 7T 2:3:5 S ATUTA | € A I7ch oa7 hi AT9Ta 1:3:4 2l
TS T IAhRT ATT | 10%, 15% 3R 20% hi Aleg TAT & AT Ik =99 J shu9l: 15%,
18% 3T 25% T ETAT &1 B i HeT Tad ST ShITT02

(a) 3400 (b) 3660 (c) 3680 (d) 3170

(e) Cannot be determined @
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